


++

--

++

--

Order[2] = 3Order[2] = 3
Order[3] = 3Order[3] = 3

p_nTone
do_PORT1
Num = 1
Z = 50ohm
Freq[1] = f 1
Freq[2] = f 2
P[1] = dbmtow(v in)
P[2] = dbmtow(v in)

p_nTone
do_PORT1
Num = 1
Z = 50ohm
Freq[1] = f 1
Freq[2] = f 2
P[1] = dbmtow(v in)
P[2] = dbmtow(v in)

Bwstop = 2500 MHZ
Astop = 60 dB
IL = 3 dB

Bwstop = 2500 MHZ
Astop = 60 dB
IL = 3 dB

Bwstop = 40 MHZ
Astop = 60 dB
IL = 3 dB

Bwstop = 40 MHZ
Astop = 60 dB
IL = 3 dB

1_ADS 101=1e-12 A
Giv eAllWarnings = yes
Max Warnings = 10

1_ADS 101=1e-12 A
Giv eAllWarnings = yes
Max Warnings = 10

vbp 1vbp 1 v mixv mix vbp 2vbp 2 Vam 2Vam 2

LoLo

Amplifier
d1_AMP1
S21 = dbpolar (10,0)
NF = 2 dB
ReferTolnput = OutPut
Tol = 21
GainComppower = 10
GainComp = 1.0 dB

Amplifier
d1_AMP1
S21 = dbpolar (10,0)
NF = 2 dB
ReferTolnput = OutPut
Tol = 21
GainComppower = 10
GainComp = 1.0 dB

Mixer
d3_Mix1
SideBand = Lower
Conv Gain = dbpolar(-7,0)
s22 = polar(0,180)
NF = 7dB
ReferTolnput = INPUT
To1 = 21
GainComppower = 10
GainComp = 1.0 dB

Mixer
d3_Mix1
SideBand = Lower
Conv Gain = dbpolar(-7,0)
s22 = polar(0,180)
NF = 7dB
ReferTolnput = INPUT
To1 = 21
GainComppower = 10
GainComp = 1.0 dB

P_1 Tone
PORT 2
NUM = 2
Z = 50 ohm
P = polar(dbmtow(10),0)
Freq = f_1o

P_1 Tone
PORT 2
NUM = 2
Z = 50 ohm
P = polar(dbmtow(10),0)
Freq = f_1o

Amplifier
d5_AMP2
S21=dbpolar(30,0)
NF = 2 dB
ReferTolnput = OUTPUT
To1 = 35
GainCompPower = 20
GainComp = 1.0 dB

Amplifier
d5_AMP2
S21=dbpolar(30,0)
NF = 2 dB
ReferTolnput = OUTPUT
To1 = 35
GainCompPower = 20
GainComp = 1.0 dB

Term
d6_Term4
Num=3
Z=50 ohm

Term
d6_Term4
Num=3
Z=50 ohm

IP3outIP3out

IP3outIP3out MeasEqn
Meas 1
dbm out = dbm (v am2)

MeasEqn
Meas 1
dbm out = dbm (v am2)

Meas Meas 
fanfan

VarVar
eggegg VAR

VAR 1
Vin = -30_dbm
f_lo = fc + if c
fc = 9 Ghz
ifc = 60 Mhz
fb = 5 Mhz

VAR
VAR 1
Vin = -30_dbm
f_lo = fc + if c
fc = 9 Ghz
ifc = 60 Mhz
fb = 5 Mhz

ip01ip01

Eqn TO1output = 1.5*m5-5*m6Eqn TO1output = 1.5*m5-5*m6

m1
freq = 8.995GHz
dBm(vin) = -30.000

m1
freq = 8.995GHz
dBm(vin) = -30.000

m2
freq = 9.005GHz
dBm(vin) = -30.000

m2
freq = 9.005GHz
dBm(vin) = -30.000

-30.0-30.0

-30.5-30.5

-31.0-31.0

-31.5-31.5

-32.0-32.0
8.9858.985 8.9908.990 8.9958.995 9.0009.000 9.0059.005 9.0109.010 9.0159.015

m1m1 m2m2
ip3outputip3output

34.89834.898

TO1outputTO1output

34.89834.898

freq,GHzfreq,GHz

m5
freq = 65.00MHz
dBm(vam2)=-6.005

m5
freq = 65.00MHz
dBm(vam2)=-6.005

m6
freq = 75.00MHz
dBm(vam2)=-87.812

m6
freq = 75.00MHz
dBm(vam2)=-87.812

m5m5

m6m6
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vinvin

Eqn  funda_mental+dbM(mix(vam2,{1,0,-1}))Eqn  funda_mental+dbM(mix(vam2,{1,0,-1}))

Eqn  third_order=dbM(mix(vam2,{1,1,-2}))Eqn  third_order=dbM(mix(vam2,{1,1,-2}))
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vinvin
Eqn convgain_Linear=outpwr_ln[1]-inpwr_lin[1]Eqn convgain_Linear=outpwr_ln[1]-inpwr_lin[1]

Eqn convgain_1db_comp=outpwr[1]-inpwr[1]Eqn convgain_1db_comp=outpwr[1]-inpwr[1]

convgain_linearconvgain_linear convgain_1db_compconvgain_1db_comp

37.00037.000 36.00036.000

inpwr[1]inpwr[1] outwr[1]outwr[1]

-16.458-16.458 19.54219.542

Eqn

Eqn



Eqn noisepwr = bud_noise_pwr(50,1)Eqn noisepwr = bud_noise_pwr(50,1) Eqn signal_power = bud_pwr(1)Eqn signal_power = bud_pwr(1)
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ComponentComponent

Eqn   SignalToNoise=bud_snr(1)Eqn   SignalToNoise=bud_snr(1)

Eqn   Signal_gain=bud_gain(”do_PORT1”,1,50,1budget_path)Eqn   Signal_gain=bud_gain(”do_PORT1”,1,50,1budget_path)

ComponentComponent

Eqn

Eqn

Eqn

Eqn


